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G= H U(N;) 000 H U(N;) (42)
i=1 1=0
00000000000 superpotential O
W= /d2azsijTTQij¢jQﬁ (43)
]

oooodoooooobo s; 0000 0000000000 0o000000d000o00o0o04ad
gooooo 100 -10o004d

000000000 DO0O0OO00000000000000000DbO000D000D00OO0 go00 “stringy
volume” V; = ((BN5)2 +|;2)2 0000

L
-t 44
@2 " g, (44)
Ogo0oodooddodoooogoooooogogd
dyd
ai:/ “,BiNS:/B (45)
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0002000000000 S?°00000000000000000000000000DOOO00OO00OO0

i
T =0+ 5

(gi )?
O000DOUOO0OO0OO0OO0O0OOO Born-Inferd0O0O0O Chern-Simons 0000000000 [21]0

i 1
=B + . (lil® + (B]*)?)* (46)
S

Spr+Scs = —us / dGETT (6_(}[— det(Gab + Bap + ZWalFab)]%)

+  dus / Tr (exp(27ro/F2 + Ba) A Z C’q> (47)
6dim
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000DS000000000 worldvolumed R xS20000 (00 notation 000000 Cy —
BEE B, - BNSOODODODOO)DChern-Simons 00000000000

Scs ~ / Tr ((2md/ Fy + BY9) /\(27Ta'F2+B£VS)/\BRR+...)
R1:3x82
~ / Tr ((Fy + BYS) A (Fy+ BYS) A BRR 4.
R1:3xS2
S2 R1:3

00 Born-Inferd 0000 0000S?00000000000000000000000O00O0O0O0OOO0O

0 BNS 0
SBIN/ Tr | —e=® |det —BNS 0 0 O (49)
RI,SXSZ
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e~ =(g,)"t00000O
~ g / Tr [BYS (det( + 20’ F)) | (50)
R1.3xS?2

(det F)z = €M F,Fy = FA+FO0 FOOOODOOO Spr+Ses000000

g;l/ BNS/FA*F+/ BRR/F/\F (51)
S2 S2

00005—=g;"fe:BY5,0= [, BRFOO0O00O0OOOD0OO0OO0O00OO

9%
T=0+— :/ BRR+1/ BNS:/ BRR+TS/ BNS (52)
9y M S2 9s Js2 S2 S2

gooo

deformation to N'=1 000 superpotential 1 0 fibration 0 0000000000000 (OO C)O
000000 Ay caseD0O0OOCCOODO

f=2 4+ +(z+t)(z+t2) =0 t+t2=0 (53)

a=t1—t, 0000

f=22+y*+ 22+ at)* =0 (54)

0000« 000000000000 00000000 3-fold0 000 Osuperpotential 0 00O COO
b 3000b00o0oooooboboooooooooooaonoo

1= I=® I=®
W(<I>)=/ w/\dtz/dt/ wz/ alt)dt (55)
s(t)2xI 1 Jseye I

O0000Ofibration000 (000 «0000)000 superpotential 0 00 000000000000 OO
00 P(®)0D0 0000 superpotential 1 00 00000000 at) 000

_ dP(Y)
o dt
000 fibration 0 0000 O0D0D0D000000 ADEDOODOODOOOO:000 oy(t)0000
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000 fibrationO 0000000000000 ) 0000000000000 COOOOOOOOOO

00000000000 0ODD superpotential D 0000 OO0O0O0OCOOOODOCOODOODOCOOOOO

fibration0 0000000000 S?000000000000000000 (4400000000000

000000 (stringy volume) 0000000000000 00O0O0O0O0O0O0O0OOODOOO worldvolume

goooooOoOooOoooOoUOooOoOoOOoOoOOooUOooOOoOoOoOooOoOOoOUOOoUoOooOoooooOO
00 superpotential D D OO OODODODO

(57)

W = /d20 ZsijTrQij(I)iji + ZTTPi((I)i) (58)
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obooooooboo

gi
W= /d29 ;sijTrQij%jS + Z k—HT@fH (59)

0000 superpotential 0 000000000000 O00O0ON7MO00D X(k,G)OOOOODOOOG
OADEOOOU0OOOD ADEOOOUODOODDDODOO case00 00 superpotential 0 00000000

i: di P;(x) = 0 (60)
i=0

00000000 cased imaginary 0 00 000000000000 (00 B)OODO0DO0DO0O00OO0OO0OO0
00000 S?20 r+000000000000000000000 S?00000000 NpOO D5000
0000000000 00000000000000000000000000000000000000
0000000000 dy=1)

H, (5_60+Zdi€i_zdiei> =0 (61)
i=1 i=0
O000Oimagmary O OO O OOO0OOOO S2000000oooooooo
i i
Je=3di [ o=3 dai=o0 (62)
g i=0 ¢ i=0
0000(t) =P 000000000000 (60)000000

X(k:l,G:Alpure) 00 0O Klebanov-Witten case[7/ D00 0DS0 00000000 OOOO D3
0000000 NpOOOODOOOOOOOO00O N;=Nod;000000 A =10 superconformal 0 0 0
0000000000000 cased 43000000

X(k=1,G=A4,) 000 Klebanov-Strassler[11]case 0 O O O Klebanov-Witten case O fractional [
000000000 case 00 00O0O0OOOOO0ODO420000000

X(k=1,G) 00O Gubser-Nekrasov-Shatashvili case[22] O O O O

X(k=1,G=A,) 000 Vafacase[l0)]D 0002000000 cased OO0

X(k,G=A;) 00O Cachazo-Intriligator-Vafa case[23] 000 04.1 00000
O00000000000000 AdS/CFTOODOOOOOO conifold0000000000OOOOO
gooobobooboboouoob oo boboboubboobobobobobobao
godoobooboddooobddodoib oL bobbbuboga
0000000000 0OVafaD superpotential 1 0000000 OgravityD OO O OO0OOO0OOOOO

000000000 Osuperpotential 0 0000000000000 O0OODOODOO0OOOO0ODOOOO
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32 N=1ADEquiver 00 (00000 DODOOOOODO)

0000000000000 superpotential0 0O 00 (2.11)0(2.12) 0000000 O OO suprepotential
000o0o0o0bbo00o000oo0 o0 000DODODO0O0OD0DOO HiggsOODODOOOOODOOOOOoOO
gobooobbooobooo

Z 8:jQijQji = AiP(Pi) ,  PiQi; = Q;®P; Dfor every Qy; (63)
J

O0000000D0000D0 (SUSYvacua) OO OOO0O0OO0OOOOOOOOOOOOOOOOODOOO
000000000 26(0 000000000000 DtermO0000000O0DO)D00O0O0ODOOOO
goooooboobobboboobboboooobooboobbobooboobbobbobobo
gooboogano

0000000 case D3DOOOOOOOOOOOOOOO G=A,D,Equiver000000 GOOO
000000 pg cAYOOO0OO0ODOOOODOOOOO K=1,---,R, 0 ATO00000000O0O0O0O0O
ggoooooobooooooboobooooooooad

P =Y nic€i ni >0 (64)
=1

O0000 jx 0000000000 SUSYODDODOOO0OOO00O000n
Pie(t) =Y nP/ =0 (65)
[

0000000000 WO k+1000000000000000000000000000000 px
000000000000 k0000000000 t=apk) ,p=1,..k ,K=1,.,R, 000000
0000000000 SUSYDOO ¢,0000 a0 néMyx 000000000 0Higes000O0
0000000000000 000000

r Ry k
[Tv@wy) - TT TTUMe.x)) (66)
i=1 K=1p=1
gogoopooooooooooggo
R+ k ‘
Ni= Y My ki (67)
K=1p=1

gooooooooobobobooooooon HZZIU(Ni)DDDDDDDDDDD a; 00000
T
aK:anKai (68)
i=1
ooooo

goodob case UOOO0OO casseUDOOODOODODOODOODOOODOOOOOOOOOO0OOO
goooboboooobobooogbbbbb

Pi: (A,n™), (AT,0) (69)
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0000t 00000AOD0D0DOOODOOOOOOOOODDOOODOOOOOOOOOOO

Pic = D i (70)
Pl(pg) =D _nixP =0 (71)
r ) k
H U(N;) — H H U(M(p,f()) (72)
=0 K p=1

k
Ni=) > My, gy (73)

K p=1

A, Dycase 00 00 00 000000000000 [18)0 0000000000 A, case000000
000000000000000000000000000000000000000000000000
000FEs, Er,Bs case J00000000 [28)[29)0 00000000

A, 00000 0000 s;=46541—6;,;—1 000000 (63)000000000D0

Q12Q21 + P{(P1) = 0 —Q2Q12+ Q23Q32 + P3(P2) =0 (74)
_Q’I’fl,’l"72QT72,’l"71 + Qrfl,rQr,rfl + P;71(¢T71) = 0, (75)
Qii+1Pit1 = PiQiiv1 Pit1Qiy1,i = Qit1,:P; for i=1,..,r—1. (76)

gbobobobooooobobooboooooboooboobooooboobbboobobbooo
O000000000000000000000000  “Q4,;+1 000 conjugation” 00000000000
UNi+1)DDODOODOO0O adjoint 0 FOOOODOODOODOOO0DO0OO000 Qi1 0000 Q4i+1FQit1,
Ooob00oDb0 FOOUOOOOOODO conjugation OO0 OOOODOODOO0O

Qiit1F(Pix1)Qit1,i = F(Pi) Qi i+1Qit1,i (77)

000 (714~ 76)0000000000j000000000000j00000000000O0O00OOO
ggogouoooboooboobobod

®;, Qjj-1Qj-1,; =Y, Qjj+1Qj+15 = X (78)

ooo DQ170Q071 = QT‘,T‘-‘rlQT-‘rl,T‘ =000000000000 Q172Q271+P1I((I)1) =00 Q271 0 conjugation
oo

Q21(Q1,2Q21 + P{(®1))Q12 = 0 (79)
YaYs + P{(®2)Y2 = 0 (80)

goo (74)|:| 20000000
(Xa + P3(®2)) (X2 + Py(®2) + P{(P2)) =0 (81)
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000000 Qs20 conjugationd (75)0 0000000000 Qus,---00000000 j—1000
Ooooooooo

X5(Xj + Pj_1(9))(X; + P]_o(®;) + Pj_1(®;)) - (Xj + P{(®)) +--- + P_1(®)) =0 (82)

oOooooooooooOooooooOo0ooooo0ooooOo;000000000000 X;,Y;®;00
gobooobooobobobobo -00b0b000b y+10000000000O00000O00O0OO0

Yi(Y; + Piy(25)) (V) + Pi_o(®5) + Pj_1 (@) - (Y + P{(®5) + -+ + Pj_1(®)) =0 (83)
D000000000000000000 (750 X,Y0OO0OODO000000o
Xj+Y; = Pj(®) (84)

000 PU®,) = ai(®;) = t;(®,) — t;41(®,) D0 OO0DO 00000 0X, — X +t;, Y — Y —tj41 0
goooooooooooooooooon
7 r+1
H(Xj"’ti)zoa H(Yj_ti)zoaxj"'Yj:O (85)
=1 =41
00300000000 X,Y,eOOOOOOOOoDOoOoOoDODOoOoDOoooooen X|:||:||:||:||:|(75)|:|2
00000 Q0000000
Qiir1Pi11Qiv1: = Qiit1Qiv1,:Ps (86)
|:||:||:||:||:||:||:|(77)|:||:||:||:||:||:||:||:|DDDDDDDDDDDDDDD
D;Qii+1Qiv1i = Qiit1Qi+1,:Ps (87)
X, = X (88)

go0ooO00oOoOoOO00OoOOoOOsObOO00oOoOooooooooooovooooooooon

b0 = ov (89)
XjU = Tj il (90)
Vit = y;v (91)

(85)00000D00O00O0D0O0OD0000X,,Y,;000 «;,y; 000000000000

(Z'j +t1)(xj +t2)'~'(1'j +tj) =0 (92)

(Y; —tj+1)(y; —tjr2) - (Y —tr41) =0 (93)

zj+y; =0 (94)

godo1gono {Ejlj {—tl,—t2,~'~—tj}|:||:||:||:||:||:||:||:|DDDDDDDDDkDDDDDD k=1,...,J

oooo0bo0oo0o z;=—t, 0000000000000 =4+4+1,..,r 0000 y,=¢,000000
0030004 -t =00000000 POODOOOOOOOODOOOO

P+ P+ Py = th—tpyr Htepr —thyot+-F o — 1 (95)
= tp—t (96)
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-1
> PL=0 (97)
m=k

goooobo3goobboooboboboooobooobo 100000000000 0obo0ooooooooona
jO00000000000O0C00O0C0CO0OO0OO0CO0O0OUDOO0DOUO0ODOUOOODUOO r(r+1)0O0O
0000000000 D0O000O0 t0000d superpotential 0000000000000 00000
ooo

O000o0o0oO0O0oU0OoO0oOooO0000oooOO0o0OOoUooUoUooOOOUODOOOOgOgA, caseld
gboooooooo

m

p=3¢ (n<m) (98)

S=n
gobooouooooooooooobooooobooboooooooboooooboooooOobboobooo
oo00Onm0 1~r000000000C »(r+1)00000000 (97)C0O0O0O0OOOOOODOOO
0000000000000 0000000000000D0 A,case00000000DOOODOOOOODO
gooo

3.3 N=1ADEquiver 00 (000 000D OONO)

gboobooobogoobd case 000000000 OO0O0OO0O0O0ODODDODOODODOOOOODODOOO
OWeylOOODOOOOOODOOOOOOOODOOOOOOOOOOODODDODOOOOOOoooooDO
gogooo

3.3.1 0O0O0OO

ADEODDO ALEODODODOODODOO fibration 0000000000000 00OOCODODODOODOOO
O00o0D0oDt0D0O0O0O00DO00O0O000000DTetal DODOOOOOOOODOOODOO 2000
000000000 oOo0o0O0O000000O0O0o0ooADEOOOOOOOOODO WeylOOOOODOO
0000000000000 000 WeylODDODOOD 20000 O fibreDO0O00O0OQOOODO
oO0oO0oDoO0Os3-FoldOOOOOOOOOOOOO2-000000DO0O0OODOOODOODOOODOOO
OO000000 Calabi-YauO OO O 2-000000000 DO0CO0O0O0O0OOOOOOOOO

gooooooobooo2obobobobooboobooooooooooobobooobooobbooonoa
00000000 0A,0¢000 fibration00 0000000 DOOO

P () (z4+t2(t) =0 , ty+ta =0 (99)

00 ©#1(t)0 t000000000O0O0O00000O0OO 0000000000 ODO0D0ODOO0OLEOOO
goooooobooboobobooobobooboobobboooooboooobooboobbooooboobooboon

ti(t) = —ta(t) = t"+2 (100)

t000000000000t—e™00# 0+ 0000000000000 A0 WeylODDOODODO
goo
ooo0o0O A,00D0000

2?4y + (2 — (1) (2 — t2(8)) (2 — t5(1)) = 0 (101)
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goooboobobOooooooboooo ¢, 0000 t,0+¢3000040an

t oo b=t (102)
ty — —at+ "I =ty (103)
ts — —at— "I =1, (104)

gooooobobboiob «00bo0obooboboo

04(61) — t1—t3 =11 —ta + (tQ - tg) = 04(61) + a(eg) (105)
04(62) — —(tg - t3) = —01(62) (106)
ooood
er — e1+eo (107)
€2 — —€2 (108)

e 0 “O0000 00O (stringy volume)”’0 (108) 000000000000 OOOOOOOOOODOOO
0000000000 00000000 44) 0000 e,0000000000000O0O0D0DODO0O0O0 e
oo el—i—%eQDDDDDDDDDDDDDDDDDDDDD quiver 00000000 OCOOVafaOOO
0000000000000 000000000000 oO0OooooOooUo 180

000000000 Ay — Ajcase 00000000000 O0OO0O0O Ascase0000D0OOOOOOO
0000000000000 000D A, 0000000000000000OO0O000OOOOOO
ggd

P4y + (P Haz+t)(z—1t)=0 (109)
ooo
Py (z+t)(z ) (z+1t3) =0 (110)
t=ttoy=—2+¥YC A 000000A case 100 bifundamental field 0 00 0

Q12 (N1, Ny) (111)
Q21 (N2, Ny) (112)

¢, 0000000000000 0O00000 decoupleD DO ODODOODOOODOOODODO 10000
ogoooo XEQ12Q21DDDD

X = tl — tQ (113)
X (X + Py) X(X+ta—t3)=0 (114)

ooooOooOo ¢,0+¢:t00000000000¢t,s0000000000 XO0OO0OOOOOOOOOOoo
0000000000000 00000000000000000 X=X+¢t000000

X = & (115)
X2 + aX+4+9,=0 (116)

o, 0000000oobobobooooooooono

X2+ (@+1)X =0 (117)
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O00000000000D00D00 superpotential 0000 0000000000000

LV:I%(§i+(a+n§f> (118)
3 2
O00A;, quivee 0 000000000000 2000000000000 quiver 000 Dadjoint O X
000000 superpotential WODOOODOOODODO0O0O00OD0D0000 4, 0000000000000
000000000000 00000000000000000000000000000000000
0000000000000000000000000

3.3.2 2adjoint 00000

DEOOOODOOOOO fibrationO0O000000000O0O00O0 200 adjoint0000000000O0O
000 [18]00 0 superpotential O

W = Ppa(X) + P2 (Y) + Prya(X +Y) (119)

O0000X,YO 200 adjoint 0000 0p,q,r0 DEOO Dynkin 00 300000000000000
03000000000000000000000 (B,0000 p=2,¢=1,r=3000)0fibrationO
00000003000000000000000000000000000000000000000
00000000000 000000000000000 S20000

00000 adjeint 0 0000000000000 000000000000000000000 N =4
00000000 adjeint 00 30000000000N =20000000000 adjeint 00000
00000000oooo

000 NOODOOOODOOOOOOOOOOOO0O0000000000000000000000000
oo0

3.4 00O NDODOOODODOO

Oo0o000 quivee DOOO0OODO0OO0O0O00O0O0 HiggsD ODODDODOODODOOODODOOOO
0000000000000 0COOUOO0ADEDOD ALEOOOODOODOOOODOCODOOCODODOODDODO
0S?20000000000000 ¢0 fibration0DO 60000000000000 D500000O S20
OO000000O0O000D0OO00Oadjoint ¢, 0000000 O00OCO0O0OOO0OOOO00O®;, 0000
000000000000000000000 t000 S?0000000000003200000 &,0
nooooodit=a,xyD 000000000000 O0000000000000000000000O0
0000000D0000D0000(6)0000000000000M(, 0000000 t=a@k 00
00000000000 U(M4pk)O0OOO0DO0O0O00DO superpotential 0000000000

Wai, o, = (t = agp,x))? (120)

DOODOOOODODOOO

N =2 SYM+W, (121)

(P, K)

godoooog 200bo0boooboobobboobobobbooboon t'Et—a(p,K)EIEIEIEIEI

2+t + 224t =0 (122)
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00000000000 conifold000000O00O0OODOOOOODODOOO conifold0dO0O0OOOO
g S%p’K)EIEI S?p’K)DDDDD 200000000000D0ODO0O0OD VafaOODOOOOODODODO
N=100000 ADEquivee 0000000000000 OOOOOOOOOO S?p’K)DDDDDDD
00 UWMpk) 00000000000 DDODOO

0000000000000 0000000 deformationd0 00000000000 OO0O
22+ F(y, 2,t1(t), ..., 1 (t)) = 0 (123)
40000000 Ajcase 00 deformation 00000000003
2+ + 22+ W) + gpa(t) = 0 (124)

WO pODOOOO0OOOg,1(t)0 p—10000000000000 deformation 0 pOO0O0O00O00OO
00000000000000000000000000 0000000000 vacua00O0OO0OOO0OO
0)0DODD0DO0DOO0O0OD0DOO0D0O0000 S*0 kR, 0000000300000 Apxy00oooono
oooooooobooooboOooboooooooodooooo 3-0000 0 By, xyooooooo
go0oo0o0oodoo 30o0o0ooooooooo3ooQboooooopbpoooogo

Ao oOF
QES( LK) s / QEH( K) = 3a (125)
/A(p,K) ’ g IS p, 1)

BOOOOOOOOOOO0OO0O0DOO0O0DODODO0OO0O0O0O000O00 ApyO0O0O0O0O0DAO0ODOOOODODOODO
Sep.ry 0 kRy 00 deformation 00 0000 0000000O0O00DOO0O deformation 000000 S, k)
0000000000000 oU0ooOoDOo0ddO00O0OUOoU0Ud0O0U0UoUUUoDoOoOoOO
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